A cylindrical tank of height 4 feet and radius 1 foot is filled with water. How much work
is required to pump all but 1 foot of water out of the tank. (Density = 62.5 138. /ft3)
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A. 97(62.5) ft-lbs. B. 37(62.5) ft-1bs. 7(62.5) ft-1bs. D. 187(62.5) ft-lbs. SW“’J
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Indicate convergence or divergence for each of the following improper integrals:

(1)/:0 (:c—ll)? dz (H)/O2 (x—11)2 dx (111)] l-rifdx

cany, div,

AJ I converges, II and III diverge. B. II converges, I and III diverge. C. Tand III
converge, Il diverges. = D. I and II converge, III diverges. E. I, II and III diverge.
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